A%

23

o

|

3

(40) Subdivision of T.35 N.R.68 E.
chains West on a true line bet.secs.6 and 7
Descending slightl y rolling land
40.60 Set a limestone 16x9x7 ins.,1l ins.in the ground for
+ sec.cor.m@rked-% on the N.face,dig pits 18x18x12 ins.,
| E.and W.of atone 3 ft.dist.and raise mound of earth 3%
ft.base,ls ft.high N.of core -
84,35 Intersect the W.bdy.of the Tp.l.2°30'E.1.97 chs. from
the cor.of sees.l and ld,a stone‘praviouslyrdeécribed.
- Set -a granite stone 14x10x8 ins.,9 ins<in the ground
i for -closing cor.of secs. 6 and 7,marked C C on E.with ;
| 5 grooves on S.and 1 groove on N.face:dig pits 18x18xl2 ins
crosspfse of eaph line N.and S.of stone .3 ft.and E.7 ft.u
‘ dist.raise mound of earth 4 ft.base,2 ft.high E.of cor.
| Land rolling.
, Soil gravelly drd.rate.
i ; Growth of sage brush énd bunch grass . ; !
; 1
| ; :
’ Mg Weon a true line bet.secs.bH and 6
Ascending slightly 1ling ground
40.00 Set a limestone 16x10x5 ins.,ll ins.in the ground for
| 2 sec.cor.merked + on the W.face:dig‘pits 18x18x12 ins.
; N.and S.of stone 3 ft.digt.and raise mound of earth ey
| ft.bese,1d ft.high W.of cor.. -
49,00 Dry Wash course S.35%W.
| Eﬁter scattering pine and cedar timber hesrs E.and W
| 92,20 Intersect the 7 th.Standard Parallel N.at S.86°20'E.

5.65 chs.from the stand.4 sec.cor.sec.3l.

' Set ‘a. granite stone 24x10x6 ins.,18 insein the ground
for closing cor.of secs.d and 6,marked C C on S.with 5 g%
grooves on E.and 1 groove on W.face,from whence

Acedar tree 6 ins.in diam.bears S.62°5'W.l.ol chs.dist
marked T 356 NR 68 E S 6 BT

NWo other tree being available I raise mound of'stone

3 ft.bsse, 2 ftihigh S.of cor.Pits impracticable

Land rolling




